
P.1

Item #:  TW52DSW
Assembly Instructions

Revised 05/2019

Please visit our website for the most current instructions, assembly tips report damage,
or request parts.  www.walkeredison.com

Copyright     2018, by Walker Edison Furniture Co., LLC. All rights reserved.c



P.2



1

2

3

5

6

7

4

P.3

1

1

1

2

3

5

6



P.4

Hardware List

1/4" x 110 mm Bolt 10 pcsA

B 7.0 x 70 mm Bolt 08 pcs

C 08 pcs

D 4.0 x 50 mm Screw 18 pcs

E 8.0 x 30 mm Wood dowel 22 pcs

1/4" Barrel nut 10 pcs

G

H

04 pcs

M4 Hex key 01 pcs

1/4" x 50 mm Bolt

F

Plastic foot

Mallet or hammer recommended for assembly
(not included)



Step 1

Step 2

P.5

3

7

4

1

1

2

(2x)

(2x)

E

E
E

E
E

E

E

E
E

E

B
B

B

B

B

H

Insert wood dowel ( E ) into parts ( 3 ), ( 4 ) and ( 7 ).

Attach part ( 2 ) to part ( 1 ) using bolt ( B )
and a hex key ( H ). Complete this step twice. 

E

E

E

E

E

E

E

E



Step 3

Step 4

P.6

3

(2x)

4

2

2

1

1

A

A

F

F

A

F

H

F

A

H

A

F

F

A

Attach part ( 3 ) to part ( 1 ) using
bolt ( A ) with barrel nut ( F ) and hex
key ( H ). Complete this step twice.

Attach part ( 4 ) to part ( 2 ) using bolt ( A ) 
with barrel nut ( F ) and hex key ( H ). 

1st

2nd

3rd

F



Step 5

Step 6

P.7

H

(4x)

G

(4x)

A

F

H

F

F

F

A

A

A

A
Attach part ( 1 ) to part ( 5 ) using 
bolt ( A ) with barrel nut ( F ) and 
hex key ( H ). Complete this step 
four times. 5

1

1

1

1

 Attach plastic feet ( G ) to leg frame.

G

G

G

G

5

6

6

7



Step 7

P.8

Step 8

(8x)
C

Attach part ( 7 ) to part ( 6 ).
Secure the pieces using bolt ( C ) 
and hex key ( H ).  

C

H

C

C

C

C

C

6

7

6

Place leg frame onto table top. 

C

C



Step 9

P.9

Step 10

Secure leg frame onto table top 
using screw ( D ) and a screwdriver. 

(18x)
D

Final Assembly.


	Página 1
	Página 2
	Página 3
	Página 4
	Página 5
	Página 6
	Página 7
	Página 8
	Página 9

